BR60J[E—LTA47JLEFHK]

[ AR A fE R 8% 3R

& & &
| e 2F 5 BF4 2F4 ax | W=
5 = Lo =1 (C I =
oA &3 miE £AH EXR BRE
1 fnEt 1792.6
611.8 593.7 587.1
XKE R HiE B2 LA IEZE
2 Fa K 1616.2
603.1 475.9 537.2
BR60OWJ[E— LS4/ 7))L ZFHIK]
EF A EF 4 EF A
R g = = = &5t fx
B (CI = B
L% XkE XEF vLVA INL B
1 fnEt 1847.0
614.6 617 615.4
& k3
2 A %K 606.6

606.6




BREKERCER TR

BR60J[E—LTSAIILVERFIIH60HRK]

NGz | 51 B EF FRE B 1 2 3 4 5 6 &t -k

1 [1—9| #HH* &2 | M5t | 3| 1039 983 100.1 | 103.1 | 1041 | 1023 | 611.8 [wesmramsenr
2 |1—-2| RE #R |[FEEWLEAK 2| 977 1027 975 1020 1038 | 99.4 603.1 |2EX&H 5
3 |1—8| FAME BAH | moEt | 2| 989 1020 976 982 | 988 | 982 5937 |2EARHIE
4 |1-7( IEXK ;RFE | ME [ 2| 975| 99.7| 968 | 978| 979 974 587.1 [2E K&t
5 |1—6| FEJII MR | poEt | 1| 933 943 943| 905| 949 995| 5668 |2EARHIE
6 [1-1| wWE mze |EgoK 2 | 929 892| 926| 79.3| 966| 866| 537.2 [sorpmiiice
7 |1—-5| K& BA#E | mOEt | 1| 858 775| 90.1| 87.3| 89.0| 895 519.2

8 [1—4| A7THE KB | ME | 1| 825 912 809 | 820| 828| 846 504.0

9 |1-3|B1R FEZA|FEWLEAK 1| 909 736 808 | 712| 762 | 832 475.9

10 1—1q T Hes#2 | #fost [ 3| 839 761 | 756 | 789 | 745| 578 446.8




BREKERCER T

BR60OWJ[E—LSA 7LV ELZFILE60FKEHE]

NG| 51 B EF FRE FH 1 2 3 4 5 6 &Et e

1 [2—6| KB OWLA| poEt | 2 [103.1 (1019|1038 | 99.9 [103.6 |104.7 6170 |[2EXREHIS
2 |2—-5| /MU & | MOEt | 2 | 1021|1035 | 103.6 | 102.0 | 100.6 |103.6 615.4 |[£EKREHIS
3 |2-7| £ £E | st | 2 {1024 |102.9 [ 103.2|101.3|101.9 [102.9 614.6 |2EXREHIS
4 |2—1[4£rr FIREL|FEHLEK| 3 | 1027 | 99.8 | 98.9 (1003|1025 [102.4 606.6 |2 EKX&H 5
5 |2—2| FiE BEx | MEt | 1| 999 | 935(102.7|102.7 [102.9 |104.1 605.8 |[£EKREHIS
6 |2—3| KEE ZE= | fost [ 1| 980]1027| 99.3| 9891029 |101.4 603.2

7 [2—4|/ME HAMY | pOEt | 1| 1003 97( 958 97.3| 99.1 | 944 583.9




BP R EEC Bk T

BP60J[E—LERMILDERF60FHER]

NEGL | 512 EF FRA |FH 1 2 | 3| 4| 5| 6 | At | x& &%
1 | 1-2|&XE FAKEB| &t | 3 91| 92| 92| 89| 84 | 90 538(X-5
2 [1-3| EH MT |[FEEEN 2 771 78| 64| 72| 73 | 80 444|x—4
BP6OWJ[E—LERMLDELZF60HKHH]
AL | &t EE EF FRA |FH 1 2 3 4 5 6 | A&t | & e
2 [1-e| /U BWE | ME | 3 87 91| 89| 87| 89 [ 84 527 X—6
1 |1-5| %& BI1E5 | mMEt | 2 93| 82| 85| 87| 81 | 88 516(X—4

3 [1—=7| B X | mEt 1 83| 81| 83| 85 86 | 81 499[x—3




ARIERCER TR

ARGOJ[ZT7SA4TIL VL EBRF60FET ]

B4 |58  #EF PRRA |FEE 1 2 3 4 5 6 A&t ==

1 |42 | #HF & st | 3 97.4| 100.8| 98.9| 101.8| 99.7 | 102.3 600.9|£E AL 15
BP60OWJ[E—LERAMLDELZRF60FKFR]

B4 | 5B  EF PIRE |FE 1 2 3 4 5 6 &t =

1 |43 [—#0 /N> f0Et | 3 |100.7 [101.8]100.8 | 103.3| 99.0 | 102.7 608.3| 2 EXEHIE




